
Minitest 1 Explanation :

1) Handshaking Lemma: deg(v) =2
X odd- odd-odd even ever-even

odd + even-oddodd. even even

2) Counterexample :
⑧ ⑧

⑨ Articulation point
X

: not a bridge⑧ ⑧

3)

(Vertex-) minimumEdge-
Connectivity Connectivity 1 degree

X

4) * Def of hamiltonian cycle

X

5) Defof equivalence
relation

X

b) Euler's theorem :

G has anX Every vertex has an
Eulerian # even degree and
Cycle G is connected

7) Counterex : Petersen G
3-connected (thus certainly

2 connected)
X

does NOT have a hamiltonian
cycle

8) Def of k-connectivity

X
3-connected : to remove atyou haveleast 3 vertices tomake G

disconnected
Il2. connected : "at least 2

9) Def of Ky : Every pair of distinct vertices
X

is directly joined by an edge
remove 1 vertex from K+

resulting graph is Kt-1



10)

⑧ ⑧

⑧ ⑧

S ⑧

⑧ ⑧

⑧ ⑧

hamiltonian cycle X

X


